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_The mean of 50 numbers is 210. If 5 is added to each number, the new mean will be

@) 210 o . B 210.1

© 100 s

50 aransefien symefl 210 aréhns. @eauleunm aawgmLgud 56 amigamd, feL&En aarasafen

syreflwureng
@A) 210 - | ®) 210.1

© 1050 S D 215

The value of the test statistics 2 for testing under null hypothesis is

t-SE{) ~  t+E(®
@) E@ ’ ®) S.E@) .
t-E@) . . - , _EQ
S.E (t) D) n
Qo argyd r@Canafien &lc.p Gemganen Lerafiudiie) Demeneu z e LI
v
. t-S.E@®) t+E(t)
@A) - “E® | . ‘ B SE®
| t-E@) PQ
©) SE ()] -
In test of significance, f,he power of the test is denoted by
@ a B  ® 1-a
© £ &7 -5
ﬂ'gpuq srggyb Cargaanie gm Cangaaniar Hpamatens GHOLS
@ « ® 1-a
© B o . ® 1-p
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| ®
4. Let x,,%,,..%, be a random sample drawn from N(y, o%). The maximum likelihood

“estimator for # when o is known as

W x , ) ®) (Zx)
© = @
N(y, o) erenp Quapoat LadSmpe X, Ty..X, dap &y TEsILESDE. o Wiy
QA Qureps 4 dgreLw SUAuY Rapssss LHIS K '
@ =z  ® ()

© ® B

5. Let x,,x,..x, be a random sample drawn from N(g, 0'2),. The maximum h’keh‘hood»

estimator for o> when 4 is known as

(A) z(xl‘ ‘ﬂ)
n-1
’ W ) (xi‘ _"#)2
: n

©) _>3<"'xs-p)2"

n-1

© Ex-p)

N(u, o?) aeap Quafed uﬁmaﬂeﬁ]@;‘bg X, Xp...X, Grep sapy a@ESLLGADY. 4 wHOY
@z Qumpg, o ér BLQAUY Pepssss LS g ' |

( A) z(xi -”)
n-1 ‘
(B) Z (xj __#)2
n

© z(xg "/‘)2
: n-1

®) Z(x;-u)

SHB/ST/16 : 4 ' n



@ |
6. The estimator EX/,’ of population mean is

(A) an unbiased estimator _ (B) a consistent estimator
w both (A) and (B) ) (D) neither (A) nor (B)

ZXA T @ Py Asr@Sulen syrafulgyen w IS gwrers |

A _@daewmﬂ B) Gurmssepewg
© Auvppo® D) (A), (B) @renBi> Poena
7. In estimating the parametérs Aof a linear function, most commonly' used method of
estimation is : 4
A) Max1mum hkehhood method M Least square method

(C) Method of minimum »* (Ch1 square) (D) Method of moments -

@y sTMdler uTUTMeUWI m@ﬂﬁ@mgﬁ@. Qurgieura Lwetu@BLD mﬁuﬁl'.@ W~

@) Bulupfspedudygep . (B) By aiss gpep
(©C) Bsflpy ewseuiss ep D) SomLus Hoer pearp
8. Rao-Blackwell theorem énablés us to obtain minimum variance unbiased estimai:br through
(A) Unbiased estimators ' (B) Complete statistic
(C)  Efficient statistic | S Sufficient statistic

Lﬁaé]g: wryurc®  Gppsfupp wﬂulﬁi_l_armmmu.l £Lpsasm_a.|m1ﬂm (tpa)u: Gummpm@
- -QaméQeue Csppd 2 Safng :

A)  Qop&slwupo wHuBLarea (B) @@mmmﬁm yeraflullwe vsmueTena
©) Sogerw yerafiulwed uarrueTeney (D) Gurgomer yarafluliwed uskrLiaTee

9. Bias of an estimator can be ‘ .
(A) Positive . ‘ ' : - (B) Negative
y Either positive or negativé O -Alwayg Zero : .
wHSC L erencuulien Genyp sférug |
A) CoferLwreng - B) aPfewneng -
© Cpflieo sidag adfe Qoanss D) eUQurggid wREwub

o o | 5 | ' SHBIST/6
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10.  Let x,,x,,..x, is a random sample from a normal population N (g, 1).’ =1 Ix? is
: . . n

of 7R W
(A) aconsistent | . (B) an efficient
(C). a sufficient - W an unbiased
xl,lxz,...x,, erarp saprengl, N (u,1) eenmp Quéadleoal ujaded Qmps TOsSLLGEHDS.
t =% Ix? qdiugl 4 +1 arénp LigTLET@aIET ' ~——— AU g @D
Q)  QurmssepeLw . ® Hpandis
(©) CGumgnoren | » (D) Qerpupp

11. Sufficient condition for consistency of estimators are

@) E(T)-»06,V(T)>1lasnosw ®) E(T)—0, V(T)>0 as n >
P ET)-6,V({l)»0asn—-w D ET)-»1,V(T)»0asn—-w»
Qur@mssapenLwt SIS 4 s@EsssTar Curgiwrar Pubsmenser

A ET)-e, V(T)—;l asn—so (B E(T)-0,VT)»0asn->w
C ET)-»6,V(T)»>0asn—>w 42)) E(T)'—)vl, V(T)>0as no>w

12. A parameter is computed from :
(A) | sample _ ' M population
(C) small number of data ' i(D) large number of data
@ usivr}.m'rmm Deraupaaraupile QnHe sersd iLGapg
A) e o ®B) pyovsdgred
©) GopHs eayerer cllugriser D) <fs seraydrar eflugriser

13. Modeof F distriﬁution is always

' <1 ® <0

©C) <-1 . D) <
F upeueién apsiig.en whliurerg) eriQ@umpgd

@ <1 . ® <0
O <-1 D <o

SHB/ST/16 ' 6 ' oo




The range of »* variate is

(A) -wto+o ' Momoé

© Otol : - D) -~otol
. esaiiés bl aSis
@) - dAdps +o ® 0eieimps
© 0aAEhs 1 O - Aeihs 0

Match the following :

(a) B, for a chi-square distributioh | 1 n-2

(b) Variance for a chi-square distribution 2. (1- 2t)"’4 g
(c)‘ Mode of x* distribution 3. (1%)+ 3
(@ M.G.F.of »* distribution L 4. 2n

@ ® © @

a1 4 3 2

® 2 1 4 3
3 4 1 2

D 4 1 3 2

QurmSHs :

(a) enseuitéssureueien ﬁ; : 1. n-2
(b) mmﬁé&svuqmaﬂdt ureLig - ' 2. . (1-20)%
©) wsités ureueiler @5@ ’ | ‘ 3. (1%)+ 3

) esaiss ugudar Soludpen e e smiy 4. 2n

@ B O @

@ 1 4 3 2
® 2 1 4 3
© 3 4 1 2

4 1 3 2

D) |
7 - L SHB/ST/16
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'16.  The mean of F distribution with (v,, v,) d.§ is given by

@ = o L' ®

Uz_l
v : ' N
(C 1 , M p)

(v, v,) slyamaw aarafsmsuns Qerar.. F urauder syraf

Us ' .
@ ®
U ' Uy

17.  If X and Y are two independent chi-square variates with n, and n, degrees of freedom

respectively, then F statistic is defined by

o XY Xin,
- m Y/n,
X/ | | X v

© 2 | ® =.—
) v n. n,

X m;ﬁgub Y aemuen qpenpCu n, wpmbd n, slgenew aanailsmswuns QsTeL. DEAITES ‘

wrlaerrente, F eramp yaraflullwed usrueteneu Gemeumionm cuanqumssinGEDS »
| XY X/
@A) B
™y 7 N Y/n,
Xing, -~ Xy
©) Aalny o = =

Y/n, n n,

18.  In the chi-square test of goodhess of fit, if the calculated \'(alue of 7? is zero then the fit
W is a good fit , (B) isnotagood fit |
(O isbiased | " © " (D) is not consistent
wseuiss Gens SpuL| Hlenes Gangmmuﬂ@. sam_Hlwiiu L iy yheflub daﬂd), 5CFTHmen
@ 5 fops Gt Apoy fee aaiuGd (B) GasApiupp e LG
(© AQppsdwureng) | » D) Gurr@;s,sL&d)a)rr,sgj
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19.

20.

The value of correlation ratio varies from

M—lmil ‘. . ® -1t00

(© ot1 D 0tow

21.

FLBpays Qe dldlg wduy wryuBeaug
@) -1 amps 1 C ® -1 Adeps 0

© Oedfimpg 1 | @) 0eOmHs ©

The measure of skewness of a frequency distribution is —0.8. If the lower and upper quartiles
are 44.1 and 56.6 respectively, then the median is

M 5535 '(B) -55.35

(C) 4535 | - "(D) —45.35

20 PlapQaar uyeudiar CamL ietenel —0.8 £ LHHIL G ardwmsaiiar wapGu 44.1 LHgb
56.6 erafled, Qe Hevewnang 7

(A 5535 | B) -55.35

€ 4535 | | D) -—45.35

Significance of a simple correlation coefficient can be tested by

/t— test . B) z- test

©  z°- test | @) f- test
SLBoays Q&@Gﬁléﬂ Biassgaraweanu arhs Cargamenen apaLons i Puemd
(A) - G&r;;smm | : B) 2z-Gsngemen

© 2*-Corgeoan D) f-Gsngeen

9 | ~ SHB/ST/6
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22. Method of least squares for determining trend is used when
(A) trend is known
(B) trendis curvilint-,zar only

| (C)‘ the value y is not a function of time ¢
M  thereis linear trend
Gurég Sirwrafss Lwetu@ By Gmuy wpep
(4) Curésg Azfbsg
B) Gursg aarug cuaamGar® wLBLb
(©) y eremug tulen sTTUDDS
D) Cpllwue Cursz @@@Lb Qumrapg)

. 2 '
23. In the coefficient of rank correlation, r =1 ——6(% , D denotes

(A) Difference i)etween the two series X a;ld Y

(B) Deviation between two series of values

M Diﬁ'éreng;e of corresponding ranks of two series of values
(D) Average values '

B9 @Lpey Gag r=1 mf(f,‘% aD Gréirug
A X wppd Yeler oS g én Geugurr@
B) @r;sm@ AN g6 elwssd

| ©) @rawn® g7 wHUS gen Caupur®
®) gynafiullen wHULEeT

24. Ina hnear equation Y =a + bX, the variable X is called
(A)  Quartile range Independent vanable
©) " Dependent variable (D) Standard deviation -
Y =a+bX erénp GpAlwed swenLim_ige X-tom erenLig)
" (A) snawner oiss B) errupp wrH
(© smips o D) S Aassd

SHB/ST/16 - 10



L 2 | |
25. V-For a random sample from a Poisson population P (1}, the maximum likelihood estimate of
1 _ . e

(A) Median

®B) Mode

(C) Geometric mean .

m{ean

P(A) aénp umismen uu}moSlé) QmHs TOESHLLL Safler ailq.ﬁua):;uﬂé), Adparen BLGuU
Boipipss oHUS 4 |

(A) '@mn_;ﬂsmo

®B) =6

(O) Qumss symedl

- D) smr;rﬂ

. 26. Variance of X in a bivariate distribution of X and Y, in terms of moments is represented by

P

® o
©
@) 40 | _ | _
X mﬁ;gub V-ar @oomd uradd X-ér o Lerwe,  SBULESDAd  Spsem gy
efésLEapg - :
Q) oy )
B  kn
©
® o
V. o ~ SHBISTI6
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27.  For two random variables X and Y, the relation E(XY)=E(X) E(Y) holds good when".
y if X and Y are statistically independent
B) foralXandVY
(C)  if Xand Y are identical
(D) if Xand Y are dependent
X wpgd Y emitiyerer wrflaser sraﬁd: E(XY)= E(X) E(Y) agub Qg iy eauQumuys
- Qurmagonengl G |
Q)  Xopgb Y ydelbue smiuppsts @umssn Curns)
B) swagg X wppd Y orhsess
©) Xuwpgd Y sireu swi0n8 @@&@Lb Gurg
D) Xwpgb Y sriyerwgns @méed Curg

28.  If Xis a random variable, E[e* ] is known as

M Characteristic function
(B) Moment generating function’

(C) Probability generating function
(D) X:moment '
. X @@ aumiitsy ) erefled, E[ei‘xl TeTug)
(A Aply sriueer |
B) Souusdpen sy
©  Bepsse 2 pugh smiy
(D) X-énSpiusHpen

29.  IfXis a random variable, E[¢™] is known as
A) characterisi:ic function M moment generating' function
(C) probability generating function (D) the X**moment o
X g amiitily wnd arefes, E[eX | erémug
A) Spoy emiueen (B) HmuiysHoem s
©) Pspssey epusd sniy D) X-en Hwigdpen

SHB/ST/16 : 12 ' Hn



31.

32.

e
30.

If X is a random variable having its probability density function f(x), E(X) is called

( arithmetic mean - (B) geometric mean

(C) harmonic mean ' ' (D) first quartile

X erénugy @ eumiiy wrdl areflld, f(x) g isaoLy Papsse) SLisH smiLen SETED,
E(X) eréng '

A)  s=L@&syrad _ : | B) QumeEs syrsf

(C) @& sgnef ' D) @z srewrand

The mean and variance of a binomial distribution are 8 and 4 respectively, then P(X =1) is
equal to '

1 | g
Mzﬁ - ® >

1 | ‘ 1

© o ®. o

FmOIUL upeueen symefl LHHID ryUTCLerea wpanCu 8, 4 aafle P(X =1) eremwig

1 : 1
@ 5 | @ g
© | o

If X and Y are two random véﬁables; the covariance between aX +b and cY +d is
A) cov(aX +b, cY +d)=cov(X,Y)
®) cov(aX +b, ¥ +d)=abcd cov(X,Y)
©) cov(aX +b, cY+d)=ac cov(X,Y)+bd
)

@ cov(aX +b, cY +d)=accov(X,Y)

X wpgd Y ererug emi'y we) erafidr aX +b LD;DQILBCY +d —ét QenL Cuwirer 2 L e oryur@
eTeTLIZ) ' :

A  cov(aX+b, cY +d)=cov(X,Y)

‘B) cov(aX +b, cY +d)=abed cov(X,Y)

©  cov(aX +b, c¥ +d)=ac cov(X,¥)+bd

@) . cov{aX b, cY +d)=accov(X,Y)

18 | SHB/ST/16
[Turn over



| ®
33.  The data collected on the weight of a grouj) of students after recording their weights 'wjth a
weighing machine are | | |
(A) primary data
. (B) _ secondary data
primary, continuous data

D) none of these |

oM oL GCueulédr gpawons wreaigaflar crenLmwl upfu dagrtsmer GCrafilig

VG
(A)  @so flew efleugd
- (B) @rewLmb fleoe efleugd
(C) g flerw, gr_irdflwrer efleurd

@ Baphe galdme

34.  Joint cumulative distribution function F(ﬁc,y) lies within the limits

(A) -landl

B) -1andO
(C) -~wand0

Reanps Gelley uyaud sriy F(z,y)—dn e

4 -1wpgol
® -1uwpgid 0
C) - wpyb0

D) Owpgwl

SHB/ST/16 = - - 14 o . a



85.  The types of classification in statistical data

36.

317.

A 2
4

C 5
3

LETAALEED, auenstiLBEgiEen auemasar

A  2(Qren()

® 4 (prag)
©) 5 (mbs)
©) 3 (apenm)

The geometric mean of the values 9, 9 is
@A 18
€ 81

99 Qbﬁu_l GrdurasaﬂéT Qumse syrad

4 18

(© 81

The range of the given set of values : -

15, 20, 35, 41, 53, 65 is

@A) 38
PP 50

15, 20, 35, 41, 53, 65 oy &w WA EeRen oise

A) - . 38
(© - 50

__ 3(9

D)

®)
©

®)
D)

®)
®)

15

0

41

35

41

36

'SHB/ST/16
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38. . When all the values of variable are same, then .
(A) AM >GM >HM '
. AM <GM < HM
M AM =GM =HM
D) GM>HM >AM
@ wrhulien Sieargg LHLILISEHLD SDWNES 2_arer Qurps,
A) sl @pssynefl > Qumpssd syrefl > @ensserafl
B) sl @ésgrefl < Quss syrafl < Qamessqrefl
©) & @ssgrefl = Qupssd syraf = Bensssqnaf]
D) Qumsse syrefl > @m&é&gn&rﬂ > gal (&sgnaf

39.  Net profit and net loss of a company for different yeérs can be presented through
(A) Bar diagram
(B) Sub Divided Bar diagram
(C) Percentage Bar diagram

V Deviation Bar diagram

o Hpcuangfen ua)(‘o’aug m@l_rmes@aasrrar P&y orub wpgn flar L, Gbs elardsluLd
gpab QgMelldsamid

(A) ulen eflarésrinLih
B elspuleL efleréasi b
(C) &g Ll e eflaTéatiuLd

D) eﬁ]mé& ULl enL efler&siLLh -

40. The Sturge’s Rule for the magnitude of class interval is

@A) Range Range
1+3.322log,(n+1) 1+3.322log,on
' © ~ Largest value—Smallest value ®) Largest value—Smallest value
1+3.322log,o(n +1) : 1-3.322log,on

oLy e9Bulen Lig Ifey Gent_Qeuefenws sterellL

ci&s o oSin
A . ’ . t
@ 1+3.322]og,,(n +1) (B) 1+3.322logyyn
©) Quifiws iy - Hdlw wHiy D) Guilw wHuy - Adlw wHy
1+3.3221og,,(n +1) 1-3.3221og,,n

SHB/ST/16 | | 16 - n



41.

42.

43.

Which one of the following is not true?

(A) Statistics does not deal with individual measurements
(B) Statistics deals only with quant1tat1ve information
©) Staustlcal results are true only on an average

V Statistics cannot be misused

Aeneueuaneupdle craneu geupreng?

@A) yaeflwud gm sallss wHlieu eswurdTag Pdme

(B) yerefuSlwid eremaener mﬁ.@Gm aawuratdpg
©) yerefiuwe iy ayser sgrefsaiicdr L HCL o.awrento
D) yeael@uea gauprs vwETLRSS WS

If B, > 3; then the distribution is said to be
(A) Platy Kurtic
(B) = Meso Kurtic

W Lepto Kurtic

(D) Skewed

Bz >3 & QmHSTE, SiLreudd
A .@mmﬁgﬁ.@i..u.urrm@ '
B) Quaflee glaLwrag |
(©C) ‘Lﬂmsg,sl'_amu_umrg;‘

D) Epoaz
Kurtosw refersto -
M Peakedness ~ (B) Scatteredness

(O). . Spread ability o - (D) Direction

SO DTN eTENTLIZl

(A) Sasgsgenenn : B) &Agpé geeno

© uwe@usss . | @) aifigpep

17
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44,  The value of semi-average for the following datais

Year: 2005 | 2006 | 2007 | 2008 | 2009 | 2010
Sales (‘000): | 60 | 75 81 1 110 | 106 | 120

(A) 75,106 (B) 216, 246 .
yf 72, 112 (D) 54,615

Epsacir. efleuriisEnég Lumrd — sgrafiiden whoy

e 2005 | 2006 | 2007 | 2008 | 2009 ; 2010

Apuear (000): | 60 | 75 | 81 | 110 | 106 | 120

A) 175,106 B) 216, 246
© 72,112 D) 54,615

»

45. In the method of moving averages, the formula for calculating 3 yearly moving average of
a,becdefis

M a+b+c b+c+d c+d+e
3 ' 3 ' 3

@) obe bed cde

33’3 ,
(© 3a+b+c)3b+c+d)3(c+d+e)

D) a+bic+d, brc+d+e c+dre+f

pamD sgrsh samsd® peopude, a, b, ¢, d, e, f-én 3 L pEmD syTefl sawmsdDeugparear Wmo

@A) a+b+c’b+c+d’c+d+e . - ,
3 3 3 ' .

abe bed cde
3'3’°3
©) 3a+b+c)3b+c+d)3(c+d+e)

M) a+b+c+d,b+c+d+e,c+d+e+f

®)
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47.

® : |
46.

The trend equation for a parabolic curve is
) Y.=a+bx
®) Y,=Na+bix

©). Y.=a+bx?

w Y, =a+bx +cx?

_UgaueneTey ma:armmr;a’;a;traf Cursg# swern®
@) Y,=a+bx |
B) Y,=Na+bIx
(C) Y ,=a+bx?

M) Y, =a+bx+cx?

The straight line trend is'repr"e'sented by

| M Y. =a+bx

B) Y. =a+bx+cx?

(©) Y, =aZx+bix?

(

) D) Y, zd+b3c-§-cxz+dx3

Gpr'r(}"»&n@ Cunsdphsmet @5@0‘&»'
Q4 Y, =a+bx |
@B Y. ='a’+b:x:+c.v::2
(C) Y, =aZx+bix?

®) Y, =a#+bx+ex®+dx®

19
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48.  One of the method of measuring seasonal variation is .
(A) graphic method : (B) semi-average method
(C) moving average method - ratio to moving average method

UGeUSTE WIHUT_K.omar Jetebleuspasnar @ PO
A)  auaguL weap ) . B) unfésynafl eop
© psmbd synafl gpenp N ) eﬁ'lﬂg paw syrefl wpenp

49. In the method of simple average, the formula for calculatmg seasonal mdex, when the
‘ quarterly values are given is :

(A) General average
Quarterly average

B) General average x100
Quarterly average

Quarterly average

©)

General average

M Quarterly average , 100

General average

Uy ST LIHUIL e sarad® Qaucughstear aeflenwwner -symefl wpepule, &rd m@a;
wHULsT QErHESILL IR MBBSTD, LIFheSTe wrHUM_ig.er @b

-  Qung# synef
A)

&néd euqpL sgmafl

Ourrg& sgnsfl
® e QL sgTem 100

&) eupL FyrEfl

© Qurrgy syrafl

D) &M gL synsil y 100
Qungé sgrefl
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50.

61.

~ In the least square method

@A (Y-Y)=0 and (Y-Y,) is maximum
W (Y-Y,)=0 and (Y-Y,) is least

(C) (Y-Y,) is maximum and (Y'-Y,) =0

D (Y- Y,,) is least and (Y -Y,)* is maximum

Where Y is the actual value and Y, is the trend value

BES eurrss apeopulier | |

@  (Y-Y)=0 wppd(Y-Y,)* Quawb

B (Y-Y,)=0 wpgid(Y-Y.) Bsfiguoid

© (Y-Y,) Gueid, wpged (Y -Y, =0

@) (Y-Y,) Befigu, wpgn (¥ -Y,) Qugwib
Y - sflwren wdOS@® Y, — Curég wHuSEH

The frequency distribution of marks obtained by 50 students is given below :

Marksscored: |1]2{3[4{5|6 [7|8]9]10
| No.of students: [0|2]1[3]|4[18]{8|6|6] 2

-

The average score of a student is

A 5 ’ '9/6.5 , © 6 | o 7

50 wresreuirseT AUHD w@ﬂ@uaﬁr&aﬂ&r SimeSeueir uuéud) &Gy Qar@asiu Hererg

| Quidp wHQug : 1/2(3|4|5/6[7|8|9]10
wremesisafien cramenfigoma: (02| 13[4 (18(8 ‘6" 6| 2

wresreuirsafien #ymafl wHiny
@ 5 ®) 65 - © s o7

21
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52.  When u and o are known, the control limits for X chart are

' 3o 3o
UCL=pu+3% CL=yu, LCL=pu-32
/ L= g Cl=p LCL ==

3o led 3o
) » # Jn \[r: # Jn

| ' 30
UCL=p+-,CL=u, LCL=pu-
© O E i

n n

4 vpgd o wHlysET Qgfluyb Qurpg!, sTrsf ()? ) sanen sl (QuUrC( ersbma;se"r

3o
A) ‘UCL= —,CL= LCL -
@ ‘”J: BEa il =
‘30 g " 30
UCL= .CL:——,LCL: -
® R ey i =
3o

UCL=u+ CL=uy, LCL=p-—4
© _ H T H. H i

CL=yu,LCL=p——=

CL=
D) U p+= Ny

JE

53.’ When o is unkﬁown, the control limits for R chart are
l UCL=D,R, CL=R, LCL=D,R |
~(®B) UCL=DR,CL=R, LCL=D,R
(© ' UCL=D,R,CL=R,LCL=DR | L.
®) - UCL=D,R, CL=R, LCL=D,R

o wHuy Ggfung Gurr@Q. R atangur_gfipanen 5&.@01.1;:";'.@ TOMSET
(A) UCL=D,R,CL - R, LCL=D,R
®) UCL=DR,CL=FR, LCL=D,R
(0 UCL=D,R,CL=R, LCL=DR

(D) UCL=D,R,CL=R, LCL=D.R

‘SHB/ST/16 ' 22



54.  For a single sampling plan, the average éample number is

55.

56.

n
© 3n

G s pepulled smat ahgl. 2 (Heu SleTeuneng|
A n '

©) .3n

In a control chart, the upper control limit
(A)  canbe negative

” 1s always positive

(C) i either positive or negative

(D) always zero »
SLEUUTCG euenpuiles Gudiol Ghmas Car(y

A sr;ﬁr’rmimmu.ma; Qméswmd

.(B) erQumpgid CriwmEid

(C) Cpiwb o0 afinvan
D) TLQumEpzIb YRRlwID '

~ A defect in an item is classified as major if

V it stops the function of the process

(B) it is not detectable

- (C) it shortens the life of the system

D) it is easily detectable

@ Qunmeier Geop Guiiug aear uEssLLEADS Talid

A) GI&u’.ua#uthOmd; sHssLLBH AP

B  @opsandigss phurg
© RUEEG PaDuIen JpLI@ET GDDESLD

®) o aafipns sear® iy ss b

23
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57. If 4 and o are the process mean and standard deviation respectively then natural

tolerance limits is

@A) a+6o o . ® t8
M Ht3c ‘ ' D) =% 60
@@ QFLINsEG U —GIIW&IﬂUJW&QJLb; o—4fLL dlessaw eeafléd) Jiger Quhamawren gL sroamawirang
A) pu+éo B) *30

©)  pt3c - ' D) 6o

58.  The width of the natural tolerance limits is |
A 2u : B o.
© o | & oo
Qupes gy aaeauier @ Geuafluurarg ) |
@) 24 | ® o

©) .0 ' D) 60

59. Alot having P, or more proportion of defectives is not acceptable by the consumer is called

(A) Average sample number

(B) Average acceptance number
M Lot tolerance fraction defective
(D) Tolerance limits

20 Gedwaile P, sivwg 21506 Cogib geapur® aﬂeglng BwHETD, BETCaunt LG Grérugj
(A) syref mm’ eTeser . .

B)  sgref gy erew

© guwiCumt figrafsgn 57 fHeaw

D)  apyaédae
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- 60.

61.

62.

Analysis Of Variance (ANOVA) was infroduced by
W.G. Gosset

V Prof. R.A. Fisher

(©  Prof. A.L. Bowley
(D) Karl Pearson

WOIYUIL L uGLimiee SR PsLLBSH maibgeur
&) WG.CarGec |
B) Gugm RA. J.9asi
(C© Guom A.L. Quarted

D) & Qwirsen

For a Latin square of order p, the number of orthogonal Latin squares are

@ p S o1
© p-2 | o P

p~;51ma>mm 2_drer su,sém s@m@u_. Siaouine Gsmwrrm wgder SQNIQQI_L_MW‘

mmmﬂ&w&mn&r@
@ p  ® e
© p-2 ~ O P

In a 2° factorial experiments the number ﬁf treatment combinations is

@ 2 o ® 4 |

© 6 | | P

2° smyefisener smifs HU 1 Corgomande pLsg apenpachicn cramemiims sl nengl
@ 2  ® 4

© 6 ®) 8
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63. A randomized block design has

| two way classification
(B) .oneway classification
(C) three way classification
(D) no classification
sflaw eumbriy s_GHLL Cengenen
@) Qo e amsiupssOTaE
B) oo awsiudisoras
(C) weam e cumstiLBssomang)
D) | amsLBssSloarsg

64. In a randomized block design, with r blocks and ¢t treatments, the error degrees of

. freedom is

@ -1 L ® e
©  @+1)-1) # -ne-n

T Agr@dsdt wHPD ¢ BLBH (peDSET QararL. sflaw amiiy sLEsS L Csngmen iewlbd
. Qenpasen s et el samaadt

@ r-1 - o ® (-1)+1)

© (+1)(-1 , @) (-1)r-1)

66. The formula for deber'mining the number of replicationd r with usual notations is

J r=2t2s%[d? | ®) r=+2t,s*/d’
© r=gd/d | @ r=2ts/d
| QuipssLoneT @;ﬂﬁ@s@m}. O 2 BITESD ‘(r) sr@LHETeT AmiiLNG
(A)' r=22s’fd® ~ ®) r=+v2t,s/d*
©  r=t1s/d® M) r‘=2t¢s/d

SHB/ST/6 , | 26 | o



66.

67.

@ CRD

68.

In a completely randomized design with ¢ treatments and'n experimental units, treatment

degrees of freedom is equal to ,
A n-t ‘ . - pf t-1
© ¢ L D) t+1

(y:@gjm sflew eumiiumésiu L @L_L..ggﬁco t pi_pgq,om;ps@m n Garrgsa)an' v_mguqa;@m
LmpsTed gl_;bg @mm&@&a&n«r sl yerenwo eramrenfiléans

@A) n-t @) t-1
© ¢ D) t+1

N

For the estimation of the error variance, maximum number of degrees of freedom is given in

(B) RBD
(©) 1SD
(D)  Factorial experiments

ureudLI. LSIGDQUSI]GDGUT m@uﬂ@mgm@ SifsuUlF 8SI_I.q..GBT6DI.D srawauﬂasms tﬂmm@u: aps HlLsH

| o GTangy?

(A) CRD
(B) = RBD
- (C) LSD

D) smyefs Gempeen
' (

In a randomized block desigh with r blocks and ¢ treatments, the block degrees of freedom

is -

r Qgrr@ﬁam D ¢ B8 Qepsert Qarewr_ sflsw surru.:uq a;L_(DQLL Gerrgmm Sienwubed
QAsrEHaEnssTan S ren caarfsmssdr

@A t-1 - ' . ® r+1
© r-1 | : @ r-t-1
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69.  If the number of units in a population are limited, then it is

(A) population finite popuiation :

(©) infinite population © (D) census |

8@ PQOsTEHia awgsd aaramiisoms cummupssiucy GEdpg, Taiid sig -
@  pyeonosreh - ®)  waser YarEAsnes

©  wydiorQensdsred @ cpegsefion

70. A finite subset of individuals in a population is called

(A) Census ‘ V Sample-
(C) Population (D) Error
@@Ggﬁ@ﬁluﬂs&r dfleugrasaficr apigaym e.&rsmtb erenugl

@ @ussiog - ® =

(©) Qp@wm-@grr@ﬁ ‘ D) Yep

71.  The formula for sample mean of n observations x;,%,, %, is

A ZIx; - M}:x,-/n

(O nZx | ' D) n
X, Xy, X, —eTGD n sarLf udaysafian sag syrafieén @sHywreng
A ZIx | ~ ®) =x/n
(C©) nZx - _ D n

72.  The formula for sample variance of ‘n observations x;,, xz o x, 18

@A) zxifn | . ® Ix-nx
& (x5 /n-1 © za/n?
%y, Xy++- X, erenp n— sem_f ubaselien sy wrHulen GHHroners
@A) Zxt/n . ® Zx,-“—nf N
© (o -%ffn-1 o /e
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73.  In sampling, the probability of drawing a unit at each selection remains same in

(A) SRSWOR

P’ SRSWR

(C) Cluster séinpling

k]

(D) Judgement éampling

& APpHEsNe qeuGaurm amemsu.;m Caipgl cr(l)as@u: ﬂapp&m FOWAE @@uugs;pa;rrm @pmgp _
A Hmbu maussns erafiu surru.luq @pa)m

B) Hmbu meaugs ereflr eumisiy apenp

©  Srorordfgep

D) 568 =g pop

74. | If .t'he samplt_e size of each stratum is ir;r}roportion to stratum size then it is ca_]led .

(A) Random allocation | '
(B) Optimum allocation

” Proportional allocation
(D) Simple allocation

Qe G0 saflen Siete; UHME SaTaES lfipLONTS @@mﬂidr. SIFHEN Fapieug)
A) amiuy @gé&@ | ’
® egponuns®

(©  oSs0undl
D) eefiw L@

'75.  'The central statistical organisation was set up in the year

/ 1951 ’ B) 1952

© 1949 | D) 1948
wiHu yerafuud gias spab Bpefiu e

@A) 1951 . . ®) 1952
© 1949 ©) 1948

fa) 29 - | SHB/ST/16
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76.  The index number of the base year is

@ 1 ' ' & 100

© o D 10
Slgl1uenL. gy e GBS G erair |
@ 1 ® 100
© o : . oW

77.  The child bearing age of women in India is
(A) 20— 24 years _ (B) 20-29 years

(C) 15-49years , ' M 13 — 48 years

Ppdwureile AuearadT, Gpbang CUD SiMLuFDETET QLI
4) 20-24 asug B) 20-29 aungy

© 15-4%aug 2 D) 13-48 awg

78.  Crude death rate provides-
(A) probability of dying an infant within a year
(B) the probability that a male will die in a given period
' ” the probability that a person will die in a given period

D) thé probability of dying a female in a given period
Qetiuefin @iy S5 sGaug

@) usflend Gbos GO UGLEHHG @piugdaTer Papsse)
B Al srosHéd em ar @puughsrar fspssey

O ELICL sresHed gmar @plugpsner Rapssey

D) EPLA L srosHd gm Auear @pliugpsrer Hepsaay
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79.

80.

10 READA,B

20 LETA=A+B

30 READC

40 DATA 5,12, 15
50 LETC=B+A
Value of C

A 17

V 29
10

READA,BV

20 LETA=A+B

30 READC
40 DATA 5,12, 15
50 LETC=B+A

- C-én Sy ereiren? - |

@ 17
© 29

10 LET Y=2

20 FOR I1=1TO4
30 LET Y=Y*2
40 NEXT 1

50 PRINT Y

What is value of Y?

@A 4

© 2

10 LET Y=2

20 FOR I=1TO4
30 LET Y=Y*2
40 NEXT I

50 PRINT Y

Y-ér iy eremen?

A 4
© 2

®)

®)
®)

®) .

D)

31

15
22

15

22

32

8
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81. 10 LET X$ = “CHENNAI’

20 LET. Y$ = LEFT$ (XS, 2)
30 PRINT Y$
Output is
@w z | - (B) Al
© Y - g
10 LET X$ = “CHENNAI
20 LET Y$ = LEFT$(X$, 2)
. 30 PRINT Y$
QeuafluSH apeng
@ Z ‘ ®B) Al
© Y ' -~ (D) CH

82. How many times the loop will be executed?
10 FOR I =10TO 100 STEP 2

/i

40 NEXT I

@) 45 &

) 90 : - D) 50

10 FOR I =10TO 100 STEP 2

40 NEXTI

s Genanenar L_EGS6T srg’spméT penp QauuBb?
@& 45 | - (®) 46
© 90 ' (D) 50
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83,

.84,

10 LET X$ = “§”

20 LET Y$ = “7

30 LET 2§ = X$+Y$

40 PRINT Z§

Output is_ »

@) 12 ® Z

" ai | ® 5 | -

10 LET . X$ = 5

20 LET  Y$ = “7

30 LET Z$ = X$+Y$

40 PRINT Z$

@sen Qauafiiun( erenen?

A 12 o - B) Z
© 67 ‘ , D b

[y
o
Z
2]
H
[y

| 1TO5
30 LET P =P*I

[
Q
oo
o
W
—
Il

@ 6 | ®) 25

& 120 | @) 1

[
(=]
g.
=
-]
It
ey

1TOS

30 LET P =P*]

40 NEXT I

50 PRINT P

@zen Qauaii®

@ 6 - - . ® 2
© 120 S D1

[ 3]
(=
)
O
=o)
i
]
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85. Index numbers help management in
(A) Finance

B) Recr_uitm'ent

- Cueranawag, GHuLCOLeGT 2 sajeug
4) ﬂ,ﬂ QPOLONSE
(E) qﬁ,srr& Ca&aULLaIf&ET ppens
© &16\5]. APLOTS

(D) Qanérens si@LLLF QPOLONS

86. Fisher;s ideal formula satisfies the
l (A) Correlation test
| ®) t'.test
. M Time reversal test
D) F-tgst
YGagfen Blenavirer cumiiLr® gHud Aelinjb
A) @LBpeyufGsrgamar
B) t-ufiGsngenen
©€) srezdmuysCsrsman

D) FGsugean
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87.

- 88.

. w link relatives

Year to year indices in the chain base method are called

(A) chain indices

{C) fixed base indices

(D) factors

sde) SiglILL Wpopudd aimLT gL sHibsrer GHuGasr eI
) sré:ﬁaﬁ]'@gﬂuﬂ@ | |

®) Qeoar puSHsE

©€) Poowra sglium_é @;ﬂué@

D) smyexfiser

Marshall Edgeworth price index uses the weights as -
(A) Base year quantity

(B) Current year quantify

W A.M of base and current year quantity

(D) G.M of base and current year quantity

omiaye o cy@eaumis GRS G erar LwETLRSHID cTenL

A)  siglueL ye® SleTey

B) - priy TR SieTey

©) sgliuenL wHmd By Q@T@ 3jerelilen aar’_@#&grrsrﬂ
D) @glueL wHoid FLLy <g,ew'r@ Sjaellen QuEpsGEFFTIEd

35 ' SHBIST/6
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89. If hspeﬁe’s price index is 324 and Fisher’s index is 216 then Paasche’s index is .
(A) 234 | . ®) 180
V 144 @) 108
wmeCLLIT @RS QLdr 324 whpb Gayfdr @A QLar 216 arafld Lrevafuler @HIS: AL s
@) 234 | T ® 180 : |
(©) 144 | @) 108

" 90. The price index which is the arithmetic mean of Laspeyre’s and Paasche’s index numbers is
(A) Kelly's index number - | |

(B) Fisher’s index number

W Bowley’s index number

(D) Walsh’s index number

oraGLWI gD Lrdvfullén s (& symaf P AL e cranLg)

A)  Qsée @Bl Queir | |

B Yoyt GO Qair

(©) Querel GHuS QLehr

D) amrddy AU Qe -

91. The mean of 32 numbers is 120. If each number is mlﬂtiplied by 2 the new mean will be -

A 118 .
@ 240 ’

©) 60

(D) 122

32 aramaafien synsfl 120 orena. geuQeunm aramanamyb 2-246 Qusamed deLs@n earsafian
syreflwreng '

@ 118
.(B) 240

(C) 60

®) 122
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92.

93.

In a PERT nefwork analysis, the optimistic time is -
(A) the I;nge'st time the activity can take

(B) normal time the activity can take

V shortest possible time the activity can take

(D) general time the activity can take

Q.m.m.u.@ Slenemy <piiedié e.&j>§ Gplrib srérugj -

A) aﬁéuuq‘.wm Crro G&m&ﬁms&r a@é@&@&ndrmgl |
B) krrérrqswr (‘S;mm.b Qe e a@&@&dincﬁmg

© . @ DeUTET Gpr{l.b G&wc’oﬁ#)eﬁ a5 EQsameToug)

D) Qurgeuner Cryb ewdSpen a@,’sé:é@a;rrei‘rmgj

-~

The difference between the maximum time available to perform and the duration of an ’

activity is

/ total float - »

» 3B - free float

(O) independent float

(D) interfering float

é@ Qeweur® BiusEb sn@ﬁéﬁ)@b 35 @L&&ésattq,u a@&tjui;é G‘mﬁgﬁﬁ)@zb @mg@_@unm
Caugur® o S '

@A) | Qurs LBigeme

@B asluHoBgemeu

© #aﬂﬁﬁ REZTY

@)  EpsdHD Bsma |
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94. Ina assignment problem, the nature of the maximization type matrix value is

A
B)
©

d

loss matrix
balanced matrix
unbalanced matrix

profit matrix

GEESILOL sasGseafie, e wipsu’ e (Maximization) gerenn aums erfludler 2 drer eramsafie

Bena
@
®
©
®)

swenpo Sienfl

poiyL siexfl

gwen Qadiwuliu’ L ojesfl

Qoru sjenfl

95. To convert unbalanced into balanced assignment problem

o
®)
©
)

to introduce dummy row or column whichever is less
if the row is less introduce dummy column
if the column is less introduce dummy row

introduce both dummy row and column

sLADHP HEEL (D samsGEmaT, SN RHEELH mé;@a;ms LOTHD G,sému

(A

®)
©
®)

SHB/ST/16

AerLoLioren widw euflens sideg Qsiigssrer uhw aflas, Qo ag Gaptanr, sos
Siflysd Qeiw Geuerr(Hio '

e o L1omer auflens Gapey el AstiGis LW aifiens SPlpan Qs GeuamBd
Qstugssren auflens Ganey sfaﬂé) SepL ol L omer Lygu ciflens 2Plapsid Qaitut CarehmBid

G&lﬁj@f;@ wHpIL Seo ol L yhw eufiens Sifapsid
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96.

97.

98.

In a graphical method of solvmg LPP the feasible regmn is possxble only in
/ I Quadrant
® I Quadrant : | - o s
(©)  TII Quadrant ' |

¢

* D) IV Quadrant

UL apeld emuly UL GrFsmen 5@01&3@5@517 ﬁrra.; sreib Qurpgl, @ms;_r,g &req uas
SiaughaETer UGS

Q) s sre LGS -
B) @rerLmb as_rré) LGS
©) apempmd H16) ugs

@) BrEnSID ST UGH |

-

The L.P.P. is assumed to be in nature.
Probabilistic B (B) Logistic
’ Deterministic ' D) Quadratic
Ly S Grssemer @tumms;uﬁleo S| GLDAGILD G&u_m_la;mtq_u.lgj
@A)  Pspssey ®) safoQuéd

(C) Smorencreng \ : - D gous

The non-negativity condition shows that LPP deals with red-life situations as it is not

‘possible to produce - quantities.
(A). positive o y negative
(C) infinite S (D) numeric
‘LPP-&v arfliioenp Sipp uemeLig, L;buga qu’.:u.n.’.n.u@tvb Qurr@émarg 245
PméEs umiiGoeme. ' '
@ Gpowp . ® ephomp
©)  oyeied D) ereir
39 n SHB/ST/16

[Turn over



99. In test of significance the region of rejection of H, when H, o ‘18 true is called

(A) significant region . (B) positive region .
y critical region : (D) negative region |
fipiy srgpd  Coergamenter . Hy ecamevwuml @améghd Qurg H, wpésstucired,
SuQeualluneng , - '
(A) Apiiyssnew Qesedl (B)  Cpinotd Hens Gasefl

© 5:’7&4’&‘.1_ Qeuafl @) .srﬂfrmgb Qauafl

\ .
100. The hypothesis H,:u=u, against H,:u#u, is

(A) ° One tailed test ' - (B) Typelerror

(C) Type 1 error - W Two taileti test
er@Caner Hy: u=pu, erlyns H, :pat,u;, eremug)”
: (A) @ Q,oma:r Cesnrgevan B) s cuens Slenyp
(C) @uam_mb mds GQenip | | D) Bm pewen Cengenen

2 | v
101. The null hypothesis for testing F =% ‘F’ statistic is defined as
2 .

(A Hy:p=u, | / H,:0?=0?
(O Hy:0y=0 . ' D) H,:c*=0cp

Q2
F =~g§— eranp Genganansanar Lisu arBGamer ‘ F’ Larafludwe eremug;
2 . ) '
(A Hy:p=u ' . .- B) Ho:of=a§

©) Hb:a'1=a ' | .(D), Ho:azl-——a'g

102. Student’s ¢ —test was introduced by .
. (A) Karl Pearson (B) Laplace.

(O) * RA Fisher @ William S. Gosset
@ ¢ ~Uupauere JPpsLLGSHuai o ' i
(A)  snié Guitaver B) womiwre .

(© RA Gegit | D)  edoeuid S. sr@evr.
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- 1065.

103.-

In test of mgmﬁcance aoceptmg H when H, is false is

Ay One talled test (B) Type lerror _
. Type Il error . (D) Two tailed test

Apliy srgpid Gargamenuler H ;, saupns QEs@w Curg Simg THUg eTeTLS)
@ S @peeans Cengenean B) . psd awemsiGap
©) @rammd cuensts Gy D) B® pmens Cargmen

104. Ogives_for more than type and less than type distribution intersects at

106.

{A) . Third quartile - , (B)‘ Mean

w Median = ) o (D)  Range

@@ uyeusSia & auarit wHOILD GuoeSlan UGt enaEeLSEr Gajiﬁ.&, Qs TeTEnd @ th
(A) apepreaig Erar@ND : - (B) e&gnefl
© Qarfaow . D) eofes

The hypothesm Hy:p=p, agamst H1 H<py 1s called

@ Onetailed test - (B) Two tailed test
©) - Type I error (D) TypelIl error
- e @Ganar Hy: p=u, afyns H,: pu<u, eénug '
@A 9@ waoer Gergenar - @B 2o (y)d)ar Gargenen
©O) s aumsl GQeny o - D) Qreawmd cuensis Genip

"The variance of a set of values is 16 Then the standard deviation, of new set of values
obtained by multiplying 4 to each value is

@A) 8 | o ®) 64

VIGQ | o2 | .
@ Gﬁﬂ@uﬁlguamr wﬂuqsaﬂa‘r dlossaiss sr;rrslﬂ 16 %u) QeuGa.ur@ mﬁumuum 4- %61)
Qu@&ﬂ ﬁam_&@m yHw Qgr@uden ﬁl_l_cﬁla)assw

(A) S : B) 64

.,(c>16 - - 2

4 | . SHBISTN6
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o
107. Let x,,%,..x, be a random sample drawn from N(g, 0?). The maximum likelihood

estimator for x4 and o2 is

‘ W X, sz=%2(ac—:?)2 | ®B) %, s= 1 Z(x -x)?
© % .sz=l)3(::c—‘u)2 D) | z,s =1 Z(x —p)?
n . n-1 -

N (4, 0*) aanp Quapael urauddmpg X, X;...%, oD fafy THESLUQGADS. 4 WHYD o®

uaTueTereusafian BUALD PaPss6s LHISG g

@) F s?=ir(x-z? ®) % st=—— S(x-7’
“n . n-1 :
= 2_1 2 - 2_ 1 2
== S(x- , 8% =—— T(x-

© %s=—Ix #? D) %, s =——I(x-n)
108. is a MVB estimator for # in normal population N (g, ¢7).

(A) Median | ‘ ®B) =Zx?

(" g2 . @ (%)

o0 Quafioal ujadd Nz o?), . eremug uefgyenw 5&Hpy wrpumr @

AT L eTencu cuFbL JGWD. 7
@) Qo flow ®) zx?
© = « © (zx)

109. Cramer-Rao inequality is baéed- on
M Stringent conditions - ' (B) Mild conditions
(C) No condition : (D) One condition

Symoir-yrel sdlafuiic odrar fupgmensdr
(A) shHevwuraena , (B) 8gwrereneu

©) Pupswmersdr Qome D) qam L@ sren
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112.

110. The maximum likelihood estimators are necessarily

111.

(A)  Unbiased S Mufﬁcient

(C) - Most efficient ' (D) Unique
BUQU® Papssss LHOS 1y.aeT
A Sepuidpg . ® Gurrgubrrmg

© A= fpenfasg ©) peibss

Estimate and estimator are

' (A) synonyms

y different

© related to population

(D) two different values

Ln,ﬂat_’;l'.lq. whHmid wHUY eTeTug

(&) @Gy wrdfuneng

B) dggursoneng |

© e Apradué Agm iy g
@ Qo Cap whiyss

If an estimator 7, of population parameter 8 converges in prbbabi]ity to & as n tends to

| infinity is said to be
(A) sufficient C 3B eﬂ'xt;ient '
M consistent o unbiased

T, eaérug ¢ pens Agr@dlldn uaruaamaLTer 'Geﬁ@mpu.l mgg.sup n—» o e
Peande, T, wdi 8 deens AsarpaLpsTd bS5 Sy

(A) Gungwnreng . - (B) ﬂmduﬂé@
(©) QurBsswpea g _ D) depuppg
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113. The statistic z = —au is used to test the null hypothesis

1. 1
o, —+—
v N a
A Ho:!‘i"'ﬂz:O MHO tH —Hy =0

(C) HO:”=I“U ) H 01 2—0
LeRTUeTEney 2 = —x—_-—anu.l LweTLRSH Corgener QaiuL@nd wWiw eT@Camerr
o’Jidri , .
LT
(A Hy:p+p=0 ®) Hy:pm-p=0
© Hy:p=p ) ® Hy:o,-0,=0

114. In a contingency table, the expected frequencies are computed under _
M null hypothesis H, | (B) alternative hypothesis H,
(C) both H, and H, ' (D) no consideration of hypothesis

Benemr'iuigwelléd 2 arer erdiimiiiy amw@maﬁr&mm semEElL 5@§Du@m TRCamar
A) yguea®@Csrar Hy T B wrmy a®Csrer H,
(C). H, vpgd H, @uaﬁr@tb‘ \ D) eps cr@(‘»’_&rr@fn sBsLUULeldena

115. The standard error of regression coefficient b;y is

@) "—f— Vi-rt ® Z A
' y

Ry 1 | :

/ =) ® Zw
. - Ty |
b,, erenp Ggwu'rqé; Qsgeien S L iGenpuinens

1-r?

A =T Ze \N1-12

@ = ® 2

© M- “\,"_' o © %An
o, Nn , : g, i
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116. .

117.

’

If 2(x; -%)" =135, ¥ =30 and n =15, then coefficient of variation is

a/lo | : ., ® 30

© 42 \ @ 9%
Z(x; —-_;)2'=135 , X =30 wpgd n =15 aaléd wrpum’ (& Qseunarg

A) 10 L - (@B) 30
© 42 @ 90

The range of t -distribution is

W oot B) - to0

© Oto+w @ -1lto+1

t upeudller eSéanang
(A) - NembE + 0 0 (B) - didimpg 0

C(©) - 0 AaimbE + O -1 Bmpg +1

118.

‘119,

B oof t distribution is

a1 | ® -1

© = - P”o

t ureuedlen ,81. TG
@ 1 | ® -1
»(C) © . ® o

The variance of ¢ distribution with n degrees of freedom is

@y A » ®)

L
n-2 . ' ‘ _ n-1

7©E o

- n slipenenio Sauprs Qsrerr u_u‘asaSIdT ugeupLIg

e 1 ' - _ n

A) - | _ - ® —

© = | )

_ n-2 } . . n-1
45
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120. The ratio of two independent chi square variates is a

(A) B, variate pf B, variate

(C) z* variate -~ )N

@m emtupp eaaitas wrhaeficr Bz, @
- (A B orhurgd . ®)

© 2 wrPungn ' D)

gamma variate

Py wrdlurgtd

ST wrHurgn

121. The skewness in a chi square distribution will be zero if

M noo ®
© no1 ®
msaiiEst ugeudlar Gam Lt hllwb aafld

A now ®B)
© n-l : o

122. Value of b in the trend line Y =a +bX is
(A) always positive ' ®)
W both positive or negative D)
Y = a+bX erenp Curég Caniligd, bufen wHuui@

.

(A)  euQumapgibd Criwod B)

(C) . Cpio widag afiivep @rarGd (D)

123. If the slof)e of the trend line is positive it shows

l rising trend B)

(C) . stagnation D)
Cunag (Zasm.'.tq.eir &rru'.né; Gpimotd arafléd Sig GHOLG
A gpCursg : B)

©) GCsasdp | ).

SHB/ST/16 . - 46

n—>0

n<0

n->0

n<0

always negative

o0

erUQurapgib e

o0

“declining trend
equal trend

&ip Cunég

swwrer Cursg



124. The probable ertor of the coefficient of correlation ‘7’ is

125.

- 126.

_ 1-r2 , . 1+r2
;,/ 0.6745[ T J ®) 0.6745( T )

n
1-r2 : o ' 1-r®
(©) 0.6475 — (D) 0.6754
' n - .n
L ODayE Qsapefler r -uflen earda nSenip @Mﬁmn@g
1-r2 | 1+r
A 0.6745 0.6745
® osuf3) @ osnas T
’ 2 _p2
© 0.6475[1 — } | ®) 0.6754(1 - )

- Least square method of fitting a trend is

V most exact

(B) - least exact
~ (C) full of subjectivity

(D) mathematically unsoun&

Curé Guu@i@@:gg‘)&;ﬂ@ GODAUTES AP GTHTLIZI
A) dsgodwwrer | '
B Sy geodworer

©) @yevwrer sfleae.,

(D) safigg Qgmidrer gaslidonss

The coefficient of determination is given by, for any correlation coefficient r,

o ® r

© 1-r _ (D) 8

SLOpays Qap r erenugen safiliy GewtaLd

@ : _ ® r

© 1-r o r
47
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127.

128.

129.

The two normal equations. for estimating ‘e’ and ‘b’ for fitting of straight line

Y=a+bX is
(A) IY =a+bX, IXY = £X + bIX?
g{ ZY = Na +bZX, EXY = aEX +bZX?

- (0©) - Y =Na+biX?, XY =gZX?+bZX

®) ZY?=Na+bEX, IXY =a’2X +b2X

Y= a+bX eretrp GCpirGsm_enL Qun@g@m Gung ‘a’ m,rpmu)
Que 8marulr@5m

A) Y =a+bX, IXY = IX +bIX*

"(B) IY=Na+biX, ZXY =axX +bIX?

(© EIY=No+bEX?, EX?Y = gEX? +bEX
(D) =Y?=Na+b=X, EXY = a?sX +b2X

‘The time series trend values relate to

Annual figures or monthly averages
(B) Metres per second
(C) Correlation

(D)  Regression

ane Agmrit uflengulien Guirag wHisdT Qgm M ju@eug
A) e wHlyser ad)wg'mng gynah

B) Bl @i eflenmg &g

© elGpa
(D) @drmml_a.q

The range of a partial correlation coefficient is

' 8 wHLYPausHEG Comauwren

@A  Otol (B) Otow

W -1tol D) -wtoew

LEH gL-Opeiler aiFs eranLig

A)  0ddmpg 1 ®) 0Admpg o
©) -1 &ilmpg 1 D) - S mpg o
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ke™*; x20

130. Let X be a random variable. Then for f(x)z{
0; otherwise

to be a (iensit.sf function, -
k must be equal to , ,

M 2 ®) %
© o | ® 1

ke®; x20

X em awrdity ol erefie, f(x)= { _
‘ : ‘ 0;  otherwise

M an..t'réﬁsm’rums @@a;a k -6 By

@ 2 ® Y%
© o o @) 1

131, If Var(x)=1 then Vor(2x +3) is
@ 5 ® 13
P - ®) 1
Var(x) =1 areflé Var(2x + 3)—em ol
@A b5 B 13
© ¢ | o1

132.. E(X-K )’ is minimum when

@ K<EX) | ®) K> EX)
P K=E(X) | ~© (D) None
E(X -K)* 858y wiiurs YoUusHS
@A) K<EX) ®) K>E(X) |
© K=EX) ©) agaSdme
n - T - SHBIST/6
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133. The mean of Poisson variate.is
(A)  greater than variance

B) less thap variance

W equal to variance

(D) twice, its variance

umisnen wrhuler syref

A Lorrgurn.'.t.-armm el Quflwigy
(B)  wrpurCetee efl Aflug

(C) wryumM L ereEE SoWTENg

‘D)  wrgurCLatenes Gurd Qrew® LRSS

134. A distribution in which mean is equal to variance is

(A) Binomial distribution (B) Gamma distribution
(C) Normal distribution & Poisson distribution
| symafluyb, wryur L ereawyb SIS RMHEGW LFeud |

A)  FEHRUY U | ®) SMONLI LIgeUdd

© @uafee uraued _ D) umisrér ugeud

135. 1f Xis a random variable and f(x) is the probability density function then E %) is

(A) arithmetic mean

M ‘harmonic mean

- (C) geometric mean
(D) first central moment

X arérug g awmily wrh aalld f(x) aaug ssgoLw Dapsse SILTFH smruen eranprd |
E %) aTenug) |
(A) am.'..@# &g

B) @enesynsf

©) Qumsgés sgrsd

@) s wwup AoLisHpe

SHB/ST/16 50 - o



136. leen the Jomt probability mass functlon of X and Yis f(x, y)= 1 XYY, x-1,23; y=12,
then P(X = 3) is equal to
o 3

—

® <

© 3 .

® = -
X wppi —xz‘“l?’; x=123; y=12 eeaié

P(X = 3)—en wuiy | | : ' ) |

w 2
® 3
(c')l#;-'

137. The probab:hty of drawing one white ball from a bag contammg 6 red 8 black, 10 ye]low
and 1 green balls is

R | : : /
A) %5 , : 0

' 24 ' -
1 il
© - ® 3
6 fauliy, 8 smuy, 10 m@m oppd 1 usms %éﬁu.x upgsen L. dveT Q@ muuﬁlaﬂ@;ﬁg @@
QaudreariLipgl r@LILSHETET ﬁswm

@ X

25 | ®) | 0
. o 24
© 1 o
n 51 .. SHBI/ST/6
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138. Quartile deviation is .

w 29 ® i@
2 2
' Q_Ql ) Q3+Q]
¥ = | - ® 3[ e

anerer eflssd eraTLg

o @re ® @@
-9 Q,+Q
© B8 @ &t 1}

139. Bowley’s co-efficient of skewness is also known as
(A) upper quartile
‘ V quartile co-efficient of skewness
(C) middle co-efficient of skewness

(D) lower quartile

QuereSlufer Cam s ésqpaﬁf;ﬂ@ wHAprm Quuwi
(A)  Guwé sréworand
- (B) smaromens GamlL Qs

(©) pefow CamLs@sug

(D)  &p snéwrend

140. The algebraic sum of deviations from the arithmetic mean is
@ + ' ® -1
o . @
, auL@é spneflalimpg ar@EsLLCL desshsdian oipws s HEOzTns
a + ' _ ® -1
© o D)

SHB/ST/16 = B2



141.

142,

" The median of 30, 17, 43, 39, 40, 18 is

@ 30

‘B) 395

(C) 39
M 345

30, 17, 43, 39, 40, 18 Y Aweuphler GeorFlova

(A) 30

® 395

(© 39 | | . : .
(D) 345 |

If the mean and mode of 50 values are 20 and 35 respectively, then the median is

@) 325
4 25

© 83

D 5

50 wfuysefar syre whpd ps® wapGu 20 whmbd 35 aresfied, QenLHaneoudian oy

A 325
® 25
(C) 8.3'
® 5

53 _ SHB/ST/16
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143. Match the following :

;_(a) Tabulation of Data
(®) Classification of Data
(¢) Primary Data
(d) Secondary Data
@ ® ©@ @
(A) 2 3 1 4
\(B) 3 2 -1 4
© 4 3 1 2
M 4 3 2 1
Qurmsgs :
- (@) yerefl efleugrusener
LG WEnLDSS5e0
() - qéiraﬂ efleurtisenar
N uUDELILDSHSD
© Q.p;aﬂam yerefl efleupbiser
@  gevem Pered el claurrsseir
@ O © @
@A 2 3 1 4
® 3 2 1 4
© 4 3 1 2
D) 1

SHB/ST/16

oW o

3.

4.

Borrow_ed information
Data is collected for the first time
Grouping the related facts

Data is arranged in rows and columns

Gpflmpg Qsr@ssuulL  ydefl  dlaurhisaar

Qung'
yerefl  Aaupisamer g  epwrs Hreg

@85 uemyeLw Ldarafl  elleugrisear Qﬁ&@"uuns

WRGug

yerefl flaugrusenar Flang opgid Hrdsefies siemoliug

54 , n



144,

146.

One of the methods of measuring trend is

M | semifaferage method

®) metho.d of simple ave_ragev

(©) ratio.to moving avefage method -
(D) link relative fnet;hod'

Cunéens amﬂugﬁ}&t@r papsafier gemmp
@A) .aamu sysfl gpeop

(B) eraflw sgrafl gpenp

(© paww syrsflésmen e&laﬂg QPP

D) Qeeriiys emind QoD |

The seasonal variation_may occur due to
(A) climate forces
(B) natural forces

(C) customs and habits

M climate forces, natural forces, customs and habits

UG FHOSITPE TPURISDETEN STTERTLD

(A &Cprgen Pane
- (B) Qupesuréd gHUGL WTPPRISET

T (©) ug;&s QupsshIEar

D) &Cgregenr ;ﬂmé), Quperswnd gHUED WIHPRISET LHDID LPES QuEERISIT

85
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146. In Time series, which one of the following component is related to long term variétion?
(A) Cyclical variation
0/ Trend
(C) Irregular variation

(D) Seasonal variation

&reod &M O;m..r‘r aflwsiid, Gaumaeuppdr Beamn. s wrEUIL@Ler AsTLiyem
s ppreng; ! |

A)  spdd wryur® |
® Curég
© &ppwrpur®

D) upaste mnguﬁ@

147. In a multiplicative model, the time series is expressed as

A Y=T+S+C+I

i T+S+C+1
® Y-
& v=TxsxCxI
) Y=TxSxCxI

100

sred &t Agm_Méd Quwsad wrdh aeniuBeug
@A Y=T+S+C+I

- T+S+C+1

® Y 100 .
© Y=_TxSxCxI

=»TxSxCxI

M) ‘Y 100

SHB/ST/I6 o 56 | n



148. The formula for 5 yearly moving avérage ofa, b, ¢, d, e f, gis given by

% a+b+c+d+e btc+d+e+f c+d+e+f+g
. - 5 K 5 ’ \ 5 )

B) 5Sa+b+c+d+e), b(b+c+d+e+f), 5(c+d+é+f+g)»
(©)  5(abede), 5(bcdef)5(cdéfg) | | L

a+b+ec b+e+d c+d+e
(D) 3 2 3 H] 3

a, b, ¢, d, e [, g-an b aumL pamb syrsfilear sansdBausparar @sHmd

(A) a+6,+c+d+e b+c+d+e+f c+d+e+f+g
®B) Ba+btc+d+re), Sb+rc+d+e+f), 5(c+d+e+f+g)
(© 5abede), S(bedef) Scdefg)

a+b+c b+c+d c;c-d+e
4)) 3 '3 ' 3

149 The two normal equations used in fitting fhe straight line are
(A) Y=a+bx, Eyf—-a+b2x |
B) )Z‘.Y=’cz-1-b')3:x:,EiXYmaZxH:{I:x2 |
V LY = Na +bZx, Z‘.XY'=aZacH:oEx3
D) Y =qa+bZx, IXY = aSx?® + brx®
CpiGan’_ @ Gurésflanen Qu rr@ég;al,;;ﬁ)élmr e Quleras swanm@adr
'(P;) ! vY=‘a+bx, Zj.=a+b2x : '
@) LY = ¢ +bZx, IXY = aZx + bIx’
(© EYéNd+52x,2XY=aZx+b2x2
(D) Y =a+bZx, EXY < aZx® + bEx’ |

o B | ‘ SHB/ST/16
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150. Which one of the following is not the method of measuring trend?

A)
®)
©)

semi-average method

moving average method

method of least squares

w link relative method

Epsaam aperpsaie erg Curafinen sawsED QsieuzhHanar apenp Side?

(A)
®)
©
D)

und sgrefl pep

pamw syrsfl apenp
By auirés apenp
@mamllqs sma qpenp |

151. Three yeafly moving average for the following data is '

Year: 2001 | 2002 | 2003 | 2004 | 2005
No.ofStudents: | 15 | 18 | 17 | 20 | 23
(A) 50, 55, 60
& 16718320
(C) 150, 165, 180 .
D) 12.5,13.75, 15
& pachr_ eflaumiisEHE® Qe Qb aEIHLD syrafullen w oy
QLD : 2001 | 2002 | 2003 | 2004 | 2005
wresreuigefien cramranfisens : | 15 18 17 | 20 23
(A) 50, 55, 60
B) 16.7,18.3, 20
(C) 150, 165, 180
®) - 12.5, 13.75, 15 .
58
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®
152 The R chart is used to show
(A) the good quality prodl'xcefi by a given process
B) the bad quality prodﬁced by a givén process
) M the variability of the quality produced by a given piocess.

(D) ﬁone

R—aiml;ruﬂdr uweTun®

(A) é@ qu'.lms.n,;bugﬁ Q&b Qurr@n‘.séﬂe‘n poe guj;a)g; ML@Q@_
B)  @oQsies e Huss Aeiyb Aurdseiiar snoppens sT_Gag |
©) | Qeiiens 2 Huss Aalnyb QummLsefier ,5&9’3&6) a.éren‘ mngum'.an..gin'.@mg o,

D) ggsdme

153. Double sampling plan is based on

(A)  good lots

(D) assignable variation

@aﬁ s (peop HLL e sig L
(A ‘srorer AgngHadr
- (B) smwop qu@mﬁ

© Bosmpsdr

D) u@gﬂl‘.ﬂﬁ]l_ggéssmrrgurr@ '

n | | 59 | ~ SHB/ST/16
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154. The sample points below lower control limit is called

(A) fraction defectxve ‘(B) control hm1ts -
W low spots _ ' (D) sample size

sy yarafiser &p sLQUUN( ardameés ECp Hmlug o
A) @mm-uml_u.l ugd B) sL@ULILE aTom&EaT
© &pydrefiger ' D) g semey

155. The average amount of inspection required for the rectifying inspection plan is called
(A) Average outgoing quality level ’
(B) Average sample number
(C)  Average outgoing quality
M Average Total inspection

Hmssb Asw Congamens ﬁn_v..p@m@ Ggazmu.urar gyrafi Gsrrgmmsg,ﬂu.n SieTQUNNS]
(4) GasfiGupw ewvws pqgﬁsin ol

(B) synafl s cramaniisans

(C) QauafiCugibd ewowsssd

1)) ao'lr:ﬂﬂ Qungss Cangenen

156. The maximum limit of percentage defectives in a finally accepted product is
(A) Acceptance‘quality level
x Average outgoing quality limit
(€) Average total inspection
D) A Average aample number
Spdde gpasiiuc e HusHudd cildfls @mgnum_u,.m 2. FEEELL TOMQWITENG]
A) qrgpsuuu_ ST GTOM
B) QevafiGupd eowwssysHen wrih
(C) &grafl Quonss Gangenen
M)  synef smp o o STy
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- 157. Chance or random variation in the manufaétured pro'duct is
(A) controllable
(# not controllable
(C) measurable
) ‘ reinovable ‘ B
2 pusd Aeiwiu@d Qurlsafio 2 drar QueLinar TP
A)  sLEUUESES SwE
B sLGUUGES PeunEE
©) saréss ahxq.li.ugj

D) géss Slg 116G

158. A defect of an item is called minor if
(A)  the defect causes failure of the item
w ’thé defect shortens the life .of the,vitem
(C)  the lot size is small
(D) the defective item may cause danger to life
o Qurselie arariu@n gop, HPwg cefld
A) @op ALQurGer LTHPSTES AGD
B) @Eop ALAuTmafiar umer GOPSE AL
© ng@ﬁ Aflwgrs GmeaEio '
D) @é)gnurr@e’mr SIUAUTET SUTLGMS cenatallEas sg LSRG

159. The operatihg characteristic function of a single sampling plan with n, c=1 is

(using Poisson) .
@ leem ®) ™
@ linp] @ e®fi-np]
-n, c=1 adp e sy S sHdaren Qewd Hpdr &My, sy (umbsrer LweaLDSS)
@A) 1+e™ ® e |
©  emlteng]  ® evi-ng]
n - 61 | - SHE/ST/16
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~ 160. Lot Tolerance Percentage Defective (LTPD) is also called as
(A) Average outgoing quality
(B) Average total inspection
(C) Average sample number
A & Rejecting quality level o _
gu‘.nﬂ(‘o'um'f Porsfsgn g7 feasstar Cag Guwiriag
- (A) Gﬁaﬂcuylb OLWSSMD . '
B) e Qurzs Congemer
(C) syref sag e eu SiaTey
D) forafgs g7 crorme

161. A control chart contains - lines.
@ 2 ® 1
o s | ®) 4
9@ sLQULIH euemyuL B Gan(Padr 2_araren.
@ 2 ® 1
© 3 | @) 4

162. Control limits for mean are _ )
& UCL=X+AS,CL=X, LCL=X-AS
® UCL=X+AS,CL=AS, LCL=X-AS
() UCL=X+§3,CL=S,LCL=X-8
D) UCL=X+S5,CL=X,LCL=X-AS
sgreM&ares SL_HUUITLH ToHMOEET
A) UCL=X+A,§,CL=X’, LCL=X-AS8
®) UCL=X+AS,CL=AS, LCL=X-AS

(0 UCL=X+S,CL=S,LCL=X-S
(D) UCL=X+8,CL=X, LCL=X-AS
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163;

164.

165.

@A) 72 | ®)

Soil fertility variation is studied by a graph known as
v(A) Line'diagram,

(B) Cartogram

(C) Histogram

W Fertility contour map

LOGHT SHAUET LFHUTL L. S LTI ueFULD

(A Csr(® euenguLd
B) St

€C) Qseusus cuenguLId

D) aarTOme S@WUILECETDH

The error sum of squares can never be

@ o o | - ® 1

P negative o @) positive

&Gy o drarflé argy LSlimpu.‘n\dn Bouy airaiidr mﬁ@é Agrerswuns @)mssng
@ o | | ® 1

(C) edimod (D) Gpinow

The coefficient of range of the weights of 10 students (in kgs) given below, is
41, 20, 14, 65, 73, 86, 53, 35, 71, 55 '

36
43

Fm e

9@ augudgieter 10 wrenairsaiier areL (£.4.) Getaumiongy :

‘41, 20, 14, 65, 73, 86, 53, 35, 71, 55

Qapdlen efiss Qaqpaunang

N 7 | - o 36
A 172 o B) 3
© o o =

63
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166. Local control is a device to maintain
(A) homogeneity among blocks
W‘ homogeneity within blocks
(C) both (A) and (B)

(D) neither (A) nor (B)

mﬁagaqn@ erenp sqpeliudicn Cpmia e BaTSGS.
| (A) Qsredseriden Cu Gis L EmeT

B) OGgrefseseato gbs Lam smar

© A vpgw ®B)
D) &), B) Grarhbd Goeow

-

167. In a completely randomized design with ¢ treatments and n experimental units, error
degrees of freedom is equal to

Yy sﬁl&wmwuuum&unLL S 00 t pLHG pepsEHd, N G&rr,ssnar a.muqs@m
@@mg:rw Senpésran S i enenio crcmmﬂm

A n-t

B n-t-1 |
© n-t+l
® t-n
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' 168. The systematlc sample 18 more efﬁ(:lent than SRSWOR 1f

A p>nk

B p>1nk-1
V p<l/nk-1
o) p<nk-1 |

ewnie wrdfigpeann sy SRSWOR-amw eﬁ]l_ 2fs ﬁm@lamu.;}srm LmEs

Q) p>nk v
B  p>1l/nk-1
©) p<lnk-1

®) p<nk-1

+ 169. In stratified sampling, the Bowley’s formula of proportional allocation of n; is '

(A . n,=nN, - ® m=nN

n . ‘ _nN
P n=TN | O e
S uBas safled ‘Quered’ e AHF LRIEG n; —ew @{5ﬁm.onar@
A n= nN,- 'b | B n -%nN

n ' ' nN
©) n; f'N"N; D) n; =T

170 Central statlsncal orgamsauon brings out pubhcatlon of reports on
M Annual survey of industries
(B) Journal on statistical surveys
(C) Annual statistics X
(D) Annual statistical surveys
mgﬁu:l L.{dmﬁuﬁlu.la') Q},u'.lsqé; as@a;tb S| éfﬂ)‘léebsmu.l QeuafludBeugl
@) apan® Apmdia sim@aBiy .
- ®) YerafluGiwér Ser@eau@rnden qg,ssw
© qgwnr@ uaraﬂu&]mm
D) year® yerefuGsd a:mGlm@uq
o | | 65 ~ SHB/ST/16
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171. The standard érfor of a sample meanis |
@& o o | ®) o*/In
@ ol . ® o
@0 ang sgrafllien grinenpuireng) :
@ : | ® ofdn

(©) o’/;/;z_ o ‘ ®) a/2n

172. The reclprocal of a standard error of a statistic is called .
(A) - standard deviation y premsmn
© standard error (D). distribution
S Q) uanueTeilen gaadp §1II;II5!'0’)LQ wHlurearg)
.(A) Sreilo&sid . . _' _(B) HICLID
©) sgrdeny o : D) ugaue

173. The standard deviation of the sampling distribution of a statistic is known as
M standard error S ' B)  distribution -
(C) standard deviation (D) parameter
Sy Lgeuedlen Safy LRTUGTEE STANQESID CTETLIG) |
A)  sruQay B) ureud
(€) sreflwssn o | D) . s Gpoy

174. 'The number of possible samples of size n from a population of N units with replacement is -
@ N? ' : @) n’
© N @

N sw@ser Gsrraum W Qﬁﬂ@@uﬁkaﬂ@p@ n’ sag et ﬁ@mu MaUSS @pwg)uﬂa) 6!‘@55"’0).
an(Hlew crwaxﬂm&mnarg

@ N @
© N ~ SN IS
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175. The Central Statistical Organisation is located in

(A) _Pune o (B) Mumbai
Delhi ' (D) Chennai

wiHw yerafudud epiies spssdar QL orarg

A yem ' : ' (B) lbents

- (C) Gread : (D) Qgenenen

176. - The number of oil packets sold by a shopkeeper on five consecutive days are 23, 52, 10, 25, 20.

Then the average number of oil packets sold is =
@A) 23 | ®B) 52

¥ & | ®) 20

S SoLisnyi ApTLihg) 5 pri_seics edpp cenQemmis 2 opsaiar crasmaisens 23, 52, 10, 25, 20
2@, Apsiiu’ L aarQemi 2 empsafien syref '
@A 23 o . B) 52

@ 2 @) 20

177. The relation among the variance of %,, under random sampling, proportional allocation and
. optimum allocation is - ‘

@ VEe <V Edy SV Edn
PP VG2 V(E) oy 2V E
©  VEIR2V Edp 2V o
@ VGt 2V Fodprop 2V (E)p

£, - orUTG ety sdpeD B8y URELLHED PP ossl0 kS 4HGD 2T
QL iiLneng | | ~ ‘
@ VESVEuop SV Eadpe

®  VEa)e2 VEdprop 2V (Eu )

© VER2V e 2V Eudprs

(D) v (i:u )opf 2V (fst )pmp 2 V('Elt )R

67 ' | - SHBI/ST/16
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178. The registration of births, deaths and marriages are
(A) fancy of society
(B)  part of medical research

M legal document

(D) growth of population |
| Spoy, oy Loﬁ)yl.b Fmwemriseaner ufla; Qeieug) cratug)
@) spprusfer slmuud
B) wosEe G S0 UGS
©) m'_l_ﬁﬁgurrd 2P EUERTLD

M) wasaQsrans uerisd

179. 10 LET E$ = “TWENTY”

20 LET F$ = “THIRTY”

30 LET G = LEN (E$) + LEN (F$)

Tﬁe value of G is

@ 50 -  ® 2
% 12 @) 30
10 LET E$ = “TWENTY’

20 LET F$ = “THIRTY"

30 LET G = LEN (E$) + LEN (F$)

G-ér PO arener? T

@A) 50 . ® 20
© 12 ' V(D) 30 .
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180.

181.

. @gen Qauafls®

10 LET A$=“5"

20 FOR 1=1TO3

30 LET A$=A$+“2
40 NEXT 1 “
50 PRINT A$

Output is
@A) 11
© 2225

10 LET A$=“5"
20 FOR I1=1TO3
'30 LET A$=A$+2’
40 NEXT I

50 PRINT A$

A) 11
(C). 2225

The value of 8 -2+3 +4/2/2
A 15 '

@ 6

© 55

® 3

8-2+3+4/2/2 @senwduiy
A 15

B 6

© 55 -

s

®) 20

@7 5222

® 20
D) 5222

69 -
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182. 10 LET M=12
20 LET N=7 |
30 IF M>NTHENM=M+4ELSEN=N-2
40 PRINT M, N
Output is

@ 12,7 ®) 16,5 y/ 16, 7 ®) 10,11

10 LET M=12

20 LET N=7

30 IF M>NTHENM=M+4ELSEN=N-2

40 PRINT M, N '

Bz Qausfii®

@) 12,7 ® 16,5 © 17  @© 10,11

=~

183 Match the following :

(8) 6MOD 4 . -1

®) SGN (-12) 2. 2

(© INT(1.9) 3. 12

@ ABS(-12) 4. 1
@ O © @

2 1 4 3

B) 4 1 2 3

© 2 3 1 4

®) 4 3 2 1

‘Gun@{sga;:

()) 6MOD 4 1. -1

(b) SGN (~12) 2. 2

(© INT(1.9) 3. 12

(d ABS(-12) 4. 1
(a) (b) © @

A 2 1 4 3

® 4 1 2 3

© 2 3 1 4

D) 4 3 2 1
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. 184. 10 LET P =
- 20 FORR 1 =1TO4
30 LET P =P*I
40 NEXT 1
50 PRINT P
Vaiue of Pis
A 24
M 0o
10 LET P=0
20 FOR 1 =1TO4
30 LET P =P*1
40 NEXT 1
50 PRINT P
P-é LDQLZJL; créen?
A 24
© o
185. .Simple index number is also known as
(A) Numerical number ‘
” Univariable index number
(C) Bivariate
(D) Average value
eraflenwowsmen @MRuIL QL_air Log@uu.n'r
A) aarerflsensulen ereir
B) @i wIROLCL GRS Ger
o ©) QrieoL wamULLL
D) sgref erair

® 10
O 4

- @B 10

D) 4

' SHB/ST/16

[Turn over



186. Drobish-Bowley gave the formula for price index in

A) 1910
y 1901
© 1801

o) 1871

Lin9av-QuerGauder eflena @Muiliger cumsiun®

@A) 1910
® 1901
© 1801
® 1871

187. Fisher’s index does not satisfy

(A) time reversal test

y circular test

(C) factor reversal test

(D) unit test -

Gagi GRS QL awr @@DQu@ﬁgn@ Cengenen
@) st fooy G’e;rmw |
B) sppsCengmen

(O ampenfl aﬁﬁmmbm Cengenen

D) e Csrgmen
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188,

189.

190.

The base berioci in the chain base method is

(C) . current year

(D)  odd number of year
sl penpuder DI TS GTHGES Qararer iLBeug

(A peewurear yar®

B whesu 6

©  priy a6
D) eoeopLUMmL cram Qaram_ e

If the new series is connected with the old series, it is known as
(A) baseshifting

(B) backward splicing

w forward splicing

(D) regression

ydw anfiens, uenpw euflenswLer GererssiulLrd oPluliuGas

Q) @gtiuent Quwirsd
- B) YGeysyflbmansd

©) @eawsyflemerge
D) Qénemeniey

' Factor reversal test permits the interchange of

(A)  base periods ' (B) - price and quantity R

M weights ' ‘ : (D) qi}antities

anyesfl @@uq Gsrrga)asr aq@jmﬁlmmtq.u B onpse
A) gL sTeb o ¢  eflene LOPYID zmﬂqu
©) Heop D) seaflwwp

73
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191. What is the Bowley’s index number if Laspeyre and Paasche’s index number are 140 and
150 respectively? :

(A 146.4 | ®B) 142

@ 145 . @ 29

e CLLfen GHSLE eredr 140 wppid Linevefluler GRASLE erar 150 arafld QuareSuden GHSC G

GTGHIT CTGITE?
(A) 146.4 B) 142

©C) 145 D) 290

192. In this method the preceding year is taken as the base year
(A) Fixed base

M Chain base

(C) Fisher

D) Bowley

b5 perpuled wpHemgi geisr(g SlgLuenl. Syam_s TOFHEAsTTe LA

@A)  Hewwren i | R
B) s g |

©)  SGlegir

D) Quered

193. In a network analysis, an activity is said to be a critical activity if
M Total float is zero - '
(B) Free float is zero
© Independént float is zero
(D) Duration time is zero
ameiddrend uGUUTLED G Aswd Siorars Aswd arar smpsHEG
(A) Qurgs Lﬂ,smeu I LLgRuid |
®) sl pp Bpenas iy gguid
© gaﬂg Wigeney LHUIL LgRuID
D) Qsweédpen Crmb yRunbd
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194. The shqrtes_t possible time required for the oompleﬁon of an ﬁctivit& is
v M the optimistic time _ | ' ' | ) .

B) the ‘péssimi‘stic time | | o '
(C) the project completion ﬁme
(D) the most lil;ely time

| 5@ Qoudun pubs eEdE Cemauinar Gmpps sriuiorer Gprb
(A)  sngsworen qulb | |
(B)  ungswren Gpu@
(C) Alub yyeumLaughsrer CHD

D) l fs ajrm'.luuan_.m Gpod

195. In a network analysis, Total Float =

| / Latest finishing time — Earliest finishing time

A (B). Latesﬁ starting time - Earliest"starting time
(C) Earliest ﬁgiqhing time — Eérliest sltartin;g time .
€))) | Latest starting time — Earliest finishing time
mma}ﬂnﬁs&mré) ugLumielléd Gmwﬁ-ﬂmm =
@) Qo Yas Cprd - el el Cprd |
®) | @glﬁ 2L d‘(bUlb - gyl oL Gprbd

| . (C) ensal igul QPuay Cpywd — @ér&Lqm < ribu Gprw

D) Buf rdu Gpyd - O @p@ Gpmo

o - R T 'SHB/ST/16
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— 196.

197.

198.

In O.R. “Monte-Carlo method” is based on th’e'i.dea of taking random samples from

M Mathematical models (B) Analogue models .

(C) Iconic médels _ (D) Graph models |

O.R. & “wnamg sriGor qpenn” erenuig) — —all(BHgE wrfsmer erssiLIHD p_gélsﬁw
ETHEE GLD. . | '

(A) &sﬁﬂg; T ) , ® éiarm&é LOTLG

©) @@sﬁaﬂé DTG ) . D) @erpuL LT_®

To convert “2” constraint into “=” constraint, the variable used in LPP is

(A) Slack variable : M Surplus variable

(C) Artificial variable : (D) Positive variable

LPP-& swaTuT® “2” eréiueng “=" sETUMLTE WIHIIUSHE LWL HiD wrh
A) Sons wrr,r_ﬂ : (B) smSerav wmd

©) ygSafiwed mrfﬁ o (D) GCpiwep wrd

The coefficient of skewness based on quartiles is 0.6. If the sum of the quartiles is 100 and
median is 38, then the value of the lower quartile is

@A 170 : . (B) 90

© 10 o | 'gf'ao

'srr@mrﬁ:&wmé eniipg Cam L& Qs 0.6. srdwrsefien sal_Le 100 whHmb Peo_fleovw 38 erafled, &p

andwmenglen i |
@ 7 . - (@B 90

©) 10 | | ®) 30
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- 199. The condition need of applying Hungarian method of solving assignment prolilem‘is
" (A) | Loss matrix
(B) Balanced matrix

©) | Unbalanced matrix

M Balanced loss matrix

i@g&él'_ﬁ) GrFsemenulien, @@G&ﬂ@dr wpopau uuaLRSGUEDE Comawnear Bubsmer
@ peisL o | |
(B) ;mdn QSUUUJQULL Saafl
©) svarHp Hef
D) - swer QaiwlLCL pegl Siewfl
| 200. Th;: model], “tht;.y use oné sét of ~px*(I)pertieava to represent so:ﬁe -o_thef set of properties which
~ the system under study possesses is ' ' '

(A) Iconic model

L M Analogue model

(C) Verbal model

() Mathematical model

RO Glgn'@uq L@y smeT LweTUBSS wHAprm AsrEUy uatysmar GrHudiiéeid wrdf
A) @Carafléwm |

B) simens @qt.c’o

(©) Qaufiue m_e®

D) semfip oo

o < o R SHB/ST/16
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10.
11.
12.
13.

IMPORTANT INSTRUCTIONS

.- This Booklet has a cover (this page) which should not be opened till the Invigilator gives signal to opén

it at the commencement of the examination. As soon as the signal is received you should tear the right
side of the booklet caver carefully to open the booklet. Then proceed to answer the questions.

This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are

requested to check whether all the questions are there in series without any omission and ensure there

are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall
be reported to the Invigilator within ﬁrst 10 minutes.

Answer all questions. All quest;tona carry equal marks.
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You will also encode your Register Number, Subject Code, Question Booklet S1. No. ete. with Blue or
Black ink Ball point pen in the space .provided on the side 2 of the Answer Sheet. If you do not encode

‘properly or fail to encode the above information, action will be taken as per Commission’s notification.

Each question comprises four responses (4), (B), (C) and (D). You are to select ONLY ONE.correct
response and ‘mark in your Answer Sheet. In case, you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for -
each question. Your total marks will depend on the number of correct responses. -marked by you in the

- Answer Sheet.
" In the Answer Sheet there are four circles @ ® © and@ agamst each question. To answer the

questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for .
each question. Select one response for each question in the Question Booklet and mark ini the Answer
Sheet. If you mark more than one answer for one, question, the answer will be treated as wrong. e.g. If
for any item ® is the correct answer, you have to mark as follows : :

@000

" You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take

th13 Questlon Booklet and the Answer Sheet out of the Exammatlon Hall dunng the exammatmn ‘

The sheet before the last page of the Questmn Booklet can be used for Rough Work.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commssxon may decide at their discretion.

“Inall matters and in cases of doubt the Enghsh Version is final.
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